ENERGY - RESOURCES

ENERGY DIVISIONS

How does modern industry get the huge supplies of energy it needs? Here's how the energy cake has been divided up since 1925. As you can see, coal was the most widely-used fuel before the middle of this century. However, since the 1950s the use of coal has declined rapidly, and oil and natural gas have gradually replaced it as the main energy source. They now provide about three​quarters of the world industrial energy supplies.

The chart also shows that the use of hydro​electricity grew between 1925 and 1955, but since then it has stayed at a figure of 6%. Nuclear power provided only a fraction of the industrial energy supplies in 1970, but it now meets 10% of the need.

In the last 60 years the world's industrial energy demand has increased by 800%, and this trend is likely to continue. Since fuels such as oil and gas will run out during the next 50 years, we will have to find new ways of getting the energy we need. The energy pie of 2025 will probably include a large slice of solar power.
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Language point

The energy cake: 
This is a common metaphor when referring to something that is divided (pie chart).

Natural gas: 
This is gas taken from the ground, compared with 'town gas' which is made from coal.

Pie chart: 
This kind of graph is used for showing shares or dimensions of a fixed amount. Thus it is particularly useful for showing percentages: total 'pie' = 100% 

Only a fraction: 
only a very small part.

hydro-electricity: 
electricity from water power.

solar power: 

power from the sun.

STEP 1

a) Find words similar in meaning to these:
use instead of - replace  
supply - provide 
satisfy - meet/provide

general direction - trend

finish - run out

requirements - needs

b) Find words opposite in meaning to these:

little-used - widely-used 
increased - declined

rapidly- gradually 
large amount - fraction

stop - continue

STEP 2
The chart above shows that the proportion of the world's industrial energy supplies provided by coal has decreased from 81 % in 1925 to 14% today. Why do you think the proportions of fuels used have changed so much?

New technology for exploiting resources e.g. oil, water, gas.

New needs - motor car, aeroplanes.

Increased use of electricity.

Pollution from coal.

Coal is a very bulky material, so expensive to transport.

Countries want to exploit their own resources, rather than importing.
STEP 3
What types of graphs do you know?
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STEP 4
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a) What advantage does a pie chart have over a bar or line graph?

A pie graph shows proportions more clearly.

b) What do you notice about the order of the items in the graphs?

Items shown in two graphs should be in the same order in both.

It is conventional to start at 12 o'clock and move in a clockwise direction from the largest to the smallest. Obviously in the second graph this is not so, since the order remains fixed, but the proportions have changed.

STEP 5 Comparisons

Complete these sentences with the appropriate letters from the pie chart.
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E   is the same as F
about

B   is 
roughly  
    the same as  C
approximately
A   is much greater / larger than  F
F    is much smaller than ​ A
